[ normalized x? probability |

0.14

Entries
Mean

Entries

0.12

Entries
Mean

0.08

"I std pev 0.2699

0.06

0.04]

0.02

0.6f--1---> A " . . h v " N N N N 1 | H N
0 2 4 6 8 10 12 14 16 18 20 09%95.10.203 040506070809 1
X Prob(x?)

=== DQMstep3_ZToEE_CKF
e DQMstep3_ZToEE_default
wmm—= DQMstep3_ZToEE_ckfPixelLess

> (%)

-

< x2/ndf >

-0.6F
-0.8F

Ratio
Ratio

18
16

< x2/ ndf >
< X2/ ndf >

i
T T[T [T [T T I [T TIT T

Ratio
Ratio

107 1072

-1
AR(track, jeltS)

<dpp. > (%)

Ratio

. : : :
10" 1 10 10? p103



	Contents
	Page 1


